ECO/DSR REV: DESCRIPTION REV. BY: DATE
ECOCHNOB34 100 RELEASE TO PROTOTYPE YOUNG 12.25.2000
101 RELEASE TO PROTOTYPE Youns 1.14.2010
102 CHANGE R63,R65 FROM 75K TO 30K Youns 2.27.2010
REMOVE PF800 SECTION
200 RELEASE TO PROTOTYPE YOUNG 4.14.2010
ECOWD12896 A00 RELEASE TO PILOT YOUNG 6.19.2010
ECOWD12993 BOO | Correct silkscreen; safety caps; add shrink RJ 7-19-2010
s
— G816 ECOWD13132 BO1 | R96 WAS 4.32K, R129 WAS 10K RJ 9-1-2010
CONS-1
oz ECOWD13206 | C00 | ADD D34 RJ 9/30/2010
R ECOWD13580 | CO1 |Change drawing of power switch to DPST. RJ 1-13-2011
0.1UF
T10AH 250V 4aoov R28 ECOWD13508 | C02 |Change Insulator th 3-7-2011
HGND
POWER SWITCH ° o ° °
| c12 c3s R10
! 1000PF [=] D63 e
! ot 1 1500UF/200V c28 A o us1M ] s +
I Kona0s 01UF 1.5KE200A asooer 5 " o1
)
[ D7 D18 16 1 ceo 470F
.- 1 R W - wer o
3 g2 2 o 12 vee
3] ‘ 88
88 88 o.a7ur "o 14| oure
VOLTAGE SWITCH 20 400 " - s 4
1500UF/200V g o " < ve e a0
ad 12 5
1.5KE200A SIHGZONSOC " = aND cr
CON6-2 [N - 11
D64 [ ouTA RT
CoNe-1 s v 10 | s
n o16 SFDN  DscH
HoND o ssotio A A cs7 olcowr st
HGND o 1 '’ 0.1UF
SS8550  0.25W KA3525A
1 L cs9
HGND HGND 100F
HGND
08
BEAD
. R94 . ‘ﬁ N N +82v [2]
Vog B MUR1520
R [
R73 R79 Rz8 b10 + +
> o
70K 470K 16 Byl 10k
0.25W 0.25W 4.99 ® g a Ll 100V 100V w
s & MUR1520
L_3lour o = Hs2
Us-D R93 o *
R78 R80 ASIZOMTR-EL L 2 41 ReEST 5 15
470K 470K 100K 5| conr 25 4 .
0.25W 0.25W Cc79 c81 c21 w
R76 R102 6 14 ] 1000UF 10K
o HEATSINK_PF500_2
- 100k MUR1520 100V R133 PFe00.3
30K 4 D24
MMBTS401 R9S o > e 12
1K
NESS5D BEAD
160K a4 MUR1520
Ra2
0.25W Us-C |
AS33OMTR-EL
TEST2 1
13 c73 L cra
oo e co6 Rs< R74 | ces o10F 1oUF To0opr 28 10008 =
Dl 0.1UF 47K S 27K 0.1UF ces L —— 12
R232 £r10 87 D27 +
0.25W + 0.1UF P Byl
cao | ca1 Ll hd
0.1UF. Soour » - > ERID
Rea | 28 POWER_MUTE
150K HGND HGND HGND
0.25W' b =
TesTa TESTS LLa148 c203 12)
01UF
FOND Rag 100v N
10 D12 -
] pTCL
]
0.25W
+ LL4148 C1s8 FRX050-60F
ca0 0.1UF
03
Pty ¢ i o
GLziec
R36 R38 R40 tmiociz
o.1url ["a00v
HGND 68K 0.25W 0.25W 0.25W
2w
4 2 Ui2A  Ll4lds o0
Ue-E R105 - i c24 Lzs.18
ROO 3.3K
AS33OMTR-EL
100097 > 1K 025w
1000v - = 122-2
s
o viz-8 L 1221
oz § 010 = 4 1 R270 AS324AM-E1 -
5.9K
15K < 10k 15K 3 2 <] Temp_muTE TO 12V DC FAN
ICICE2AL6501P8 95 MUTE 92 RESTART ¢ o
L
LTV-817M-CN
4 HEND HGND 150
1 ue-B PWR_OFF
AS339MTR-E1 R12
MMBTS401 )
R72 2] PWR_OFF
10K MMBTSS51LTL 105 PROTECT g wa
LLa148 1.2
:> :% i —_—
cas RS54 1 AS324AM-E1
c23
1UF 249K y sc1 R20 g
Us-A 1K 10K u12-D
us AS33OMTR-EL MCR100-6 R265 AS324AM-EL
LTV-817M-CN cos L 12
2700PF — — — 4
HGND - - 13
JUC31F-105C ON-TYPE
RES st
4.99K =
MOSFET HEATSINK
TEMPERATURE PROTECT -
HGND
2034544-XX B
2034543-02
0032201
SHRINK TUBE 18X40MM
APPROVALS DATE
4700PF
0032291 DRAWN: YOUNG 12.25.2000
FORTHL D 0032291 ML 4 W3 M5 He M7 Mo He i MU 250v ci87 R 013012010
SHRINK TUBE 18X40MM FORC118 SHRINK TUBE 18X40MM 1 .
CHECKED:
[] oz o 1 r c1 250v TECHNOLOGIES INC. WOODINVILLE WA. USA
FORL3LG WIRE JUMPER 20AWG G0MM 2000V 1000PF o
Hi2 NP ENG:
HEATSINK_PF500_3 HGND HGND =
0021206 =
S I PF500 MAIN
weG: POWER SUPPLY SECTION
— size | scaie: DWG. NO. REV.
o NONE 2034544-XX co2
1SSUED:
DWG FILE: SHEET oF




Ras7
Q15 z6 1
- MMBT5401 Qe GLZ5.1B GLZ5.1B
soKs . -
NIMA580M .21
van . o A
Ri10
LLa148 o6 —Cff—li R14 2
-63V. 10UF 0.25W  Cc142 39K Ri1L ER1D
“ o w0 ET
1006 war - VT et cao
,—{ }—. ’ 0470F _—  _ o68ur pwr_oFF {J
T cas J o b - J 250v 100 ]
A
o , 1 e [ 8 4
100F = ato
U8 aoKe oo ¥ o Ao #eso ‘ 1 e
cie
u18-B LL4148 LL4148 R13a LL4148 LL;Ql;IB 0|
UA 100F s 15 [
Ri23  NIMASBOM c165 [ N . N ve R135 c1s7 L
oo o w R107 92 33pF T
g 25v Rus = It
Csa & e ol [ 1] 10 - 2aun
1 = 1S c13 A o3 4.32€ 1907 025w QW
e— o40
oi  UB s L L —&or wofe N J 4
R108 ] LL4148 H J1-3
LLa148 Slne e 2 R100 "
PR EMPTY ° = Geaur
R43 iw 0.25W 2 8 IRFBA227 T
1000PF 1000PF 2 o 10 100v
e 100v 3 | > 0.25W a2
Soot qizs s L= roe &L 2 R1ta 1
C154 K 2 25v 3.3k 0.1UF R35 10K
037 0.25w 7O OUTPUT BOARD 319
— UteA * ERID =
= = " ADTLOS2RZ g 3 3 * * * ‘e
1 sy
ciss L R103 - .21
0.1UF T 2.74K
sV
1
Rao
100
025w
uisc uac ci7a
NIM4SBOM NIMASEOM Re T0UF
ooy . o . o . o
cisy
v st o1UF o1 =~ 0.10F
c208 8 8 o1 8 MMBT5551LT1
GND N2 <— 0.1UF
d 7 uiec = =
cias = ciso =
18V 133 Suas T S1s0 - - oaur | somosainz
o 134 . . . A
onp s <@ asv .
[£8] 1K
POWER_LED_ORANGE J13-6 0.25W
POWER_LED_GREEN 137
AMP_IN 3-8 R236 U3
oo e | AP MUTE 221K NesssD miscy [ ] 730-001-00
Low LeveL MuTe L THERMAL COMPOUND
<— Py ° w3 2034504
= ra1 our wiscz [ ] SILICONE RTV
E Ross +
[ . 4 rest oave L Lcuo 0029375
100K C171—— 100UF /] z2 SCR18
TENP-MUTE o ook o T oizs18 O SCR SEMS M3X16 PNH PHILLIP STL NICKEL
R2%0 N sera7 [] 0026673
o css ™ oS 5 SCR SEMS M3X12 PNH PHILLIP STL NICKEL
Q28 ~
POWER_MUTE LLaras 2700°F BTs01 scrie [] 2026673
oy TSI | gy MMBTSSSILTL | 7 " 18 SCR SEMS M3X12 PNH PHILLIP STL NICKEL
R231 —4 1000PF 0032726
206 o e - T o T wsto [ ] HEATSINK FOR IC HD SERIES
Py 2035269
. . . HS5
$5510710 $8527039  gssioess  $SAI2 :L O HEATSINK 1 PF500
- 0026671 0026671 2035270
Lo D scr13 ] scris [ Hse [ |
[E] ] SCR SEMS M3X10 PNH PHILLIP STL NICKEL SCR SEMS M3X10 PNH PHILLIP STL NICKEL HEATSINK 2 PF500
1 0026671 0026671 2035271
s s O
[esd] [eee] [esd] SCR SEMS M3X10 PNH PHILLIP STL NICKEL SCR SEMS M3X10 PNH PHILLIP STL NICKEL HEATSINK 3 PF500
SCR7 D 0026673 PLT1 D 2035974 PLT2 D 2035974
SCR SEMS M3X12 PNH PHILLIP STL NICKEL PLATE 25X19X1MM CER PLATE 25X19X1MM CER
SCR6 D 0026673 INS3 D 2035273
SCR SEMS M3X12 PNH PHILLIP STL NICKEL INSULATOR HEATSINK 1 PF500
AppROVALS oate
0027081 0026673 2037008
INS8 SCR5 INS1 DRAWN:
O INSULATOR 19.4X14X2MM CER O SCR SEMS M3X12 PNH PHILLIP STL NICKEL O INSULATOR HEATSINK 2 PF500 voune 12.25.2009 @@@
0027081 0026673 0029375
INS7 SCR2 SCR11 CHECKED:
O INSULATOR 19.4X14X2MM CER O SCR SEMS M3X12 PNH PHILLIP STL NICKEL O SCR SEMS M3X16 PNH PHILLIP STL NICKEL TECHNOLOGIES INC. WOODINVILLE WA. USA
INS6 D 0027081 SCR4 D 0026671 SCR10 D 0029375 NP ENG:
INSULATOR 19.4X14X2MM CER SCR SEMS M3X10 PNH PHILLIP STL NICKEL SCR SEMS M3X16 PNH PHILLIP STL NICKEL PE500 MAIN
INS5 D 0027081 SCR1 D 0026671 SCR9 D 0029375 MATERIAL:
INSULATOR 19.4X14X2MM CER SCR SEMS M3X10 PNH PHILLIP STL NICKEL SCR SEMS M3X16 PNH PHILLIP STL NICKEL CLASS D AMP SECTION
0027081 0033326 0029375 Ve —
Nsa ] cez [] scrs [ ]
o1 INSULATOR 19.4X14X2MM CER FIT PART SVT-7PRO (Bar Clamp) SCR SEMS M3X16 PNH PHILLIP STL NICKEL
HEATSINK_FOR_IR20955 p— size | soae WG, o, Rev
sz [] 0027081 clpy [ 0033326 scra [] 2029975 one 2034544-XX coz
- INSULATOR 19.4X14X2MM CER FIT PART SVT-7PRO (Bar Clamp) SCR SEMS M3X16 PNH PHILLIP STL NICKEL p—— °




